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6) 52𝑥−1 = 71−𝑥 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

Graph Log functions. Identify ordered pairs, VA, Domain, Range, Asymptote, x-intercept 

39) 

  
 
Domain: _____________  Range: ___________ 
 
Asymptote: _______   x-int: ______________ 
 
 
 
 
 
 

40)  

 
Domain: _____________  Range: ___________ 
 
Asymptote: _______   x-int: ______________ 
 

 
41)  𝑔(𝑥) = −2 ln 𝑥 + 3 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
Domain: _____________  Range: ___________ 
 
Asymptote: _______   x-int: ______________ 
 

 
42)  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
Domain: _____________  Range: ___________ 
 
Asymptote: _______   x-int: ______________ 
 
 
 
 

 


